WHETHIZ 513 R E RSB EORERR (T3 0 £H)

I5H At BT cth
<EAXHT—E>
FHoAA0~175%) 35,000 A\ 15,000 A 7,000 A
A 2,500 A 1,100 A 500 A
REEFERGEH(TETAZM ) 20014 701 4014
TEEEH 30014 10014 5014
<BFRESFORKR>
%é&%ﬂﬁ@xﬁ(tﬂ& JE ) FFOREEEM D E X L00% 0% L00%
AREGB~br A ERLESDX 92% 88% 98%
FIR =2 ROEREK 75% 55% 95%
16y AREBREZEZDX 88% 80% 95%
FIR =2 ROBBEK 55% 30% 90%
SHERBEZLESDE 82% 75% 88%
FIR =2 ROBBEK 20% 10% 95%
B FREEEOR N —7 (ERE RS HETH o « o
DIEBARE]) SE
<FETXEFEVKRE>
CAICBIIIRBERASZEDER O X O
GEEJ0HliHES 85% - 75%
BEEXESHELOER O X X
EE= kAL Biln IS 50 X X
I —PRTAEEDERE O O X
—RENEEDESE O X O
R E EFHEALUIND R E R BE R IS4 80014 10014 1204
RE-REZALEHL-REESHEOME | oi — |oooxim
<IEEEEDRR >
FLU DR F 0 R—=V DX O O X
EROFEE Ji AR 2 ] — HP 48
< REEFAOI MK >
Bt E RN 7 — A RE &R ER K 50[e] 5[] 10[=]
REREMKEDOEE O O O
REEFEEEB~OEB S B E #(A) 3.5 1.5 0.5
ES=RDNEVD) 3= [OY LTI £ 57 1 6.7 20
(REEAFHEAAHR EENICHE S50
REEFRISD=HDARFILEF
OB EDEE O — -
QILHERDER O O O
Q=D O — O
@1#.:%%)\ E&W%’f@,tr BEE — — O
O REEL KR REZICHANDV AT LEE — O —
@%@1@@12&%”#3% — — O




